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QUESTION 1

Which of the following is not the daily basic maintenance operation on the U20007?
A. Browsing the current alarms

B. Checking the communication between the U2000 and NEs

C. Querying the security logs of the U2000

D. Checking the disk space of the U2000 server

Correct Answer: D

QUESTION 2
Which of the following statements are true about fiber-shared virtual path protection?

A. The VC-4 timeslots of an optical path allocated to an MSP ring and those allocated for an SNCP ring must be
different.

B. When the VC-4 timeslots of an optical path allocated to both an MSP ring and an SNCP ring are the same, services
on the VC-4 timeslots have double protection.

C. The VC-4 timeslots of an optical path allocated to two MSP rings must be different.

D. When the VC-4 timeslots of an optical path allocated to two MSP rings are the same, services on the VC-4 timeslots
have double protection.

E. The VC-4 timeslots of an optical path allocated to two SNCP rings must be different.

F. When the VC-4 timeslots of an optical path allocated to two SNCP rings are the same, services on the VC-4 timeslots
have double protection.

Correct Answer. ABCE

QUESTION 3

Larger value of SSMB indicates better quality of a clock source.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 4

Which of the following are true about the relationship between pointer justification and bit errors?
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A. Justification of a large number of pointers may cause bit errors,
B. A large number of bit errors may cause pointer justification.

C. Bit errors do not lead to pointer justification.

D. Pointer justification does not lead to bit errors.

Correct Answer: AC

QUESTION 5

When commissioning OptiX OSN 3500 equipment, decide whether optical attenuators are needed. If the optical power
is too high, user an attenuator to reduce optical power and to prevent damage to an optical port. Generally, for which
port of an optical module is an optical attenuator used?

A.IN

B. OUT

C.T1

D.R1

Correct Answer: A

QUESTION 6

The timeslot numbering policy used on Huawei OptiX NG-SDH equipment is ITU-T G.707-compliant sequential scheme
(timeslot scheme) and that used on third-party equipment is interleaved scheme (line scheme). Which timeslot of third-
party equipment can be interconnected with slot 35 of Huawei equipment?

A. 34

B. 35

C.36

D. 37

Correct Answer: B

QUESTION 7

Besides input and output electrical specifications, the maximum transmission distance of various types of cables also
has relevant ITU-T recommendations. 75-ohm and 120-ohm coaxial E1 trunk cables have the same transmission
distance.

A. TRUE

B. FALSE
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Correct Answer: B

QUESTION 8

What information is conveyed by SSN1SL16A01, a board bar code of NG-SDH equipment?
A. Board version

B. Board name

C. Board feature code

D. Board type

Correct Answer. ABC

QUESTION 9

Generally, a clock tracing chain consists of a maximum of 20 NEs. This rule does not apply to a clock subnet where the
SSM protocol is enabled.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 10

Which of the following statements are true about ground resistance?

A. Less than 1 ohm at an integrated telecom building

B. Less than 5 ohms at a common telecom office/site

C. The higher ground resistance is, the better.

D. At an area where soil resistivity is high, the ground resistance can be 10 ohms

Correct Answer: ABD

QUESTION 11
Which of the following statements are false about clock configuration guidelines?

A. The backbone layer and convergence layer must be configured with clock protection and with master and slave clock
sources, which are used for clock protection switching.

B. An NE that is connected to a BITS clock or a high-precision external clock will trace an external clock source.
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C. If aline clock source needs to be traced, ensure that the clock tracing route must be the shortest.
D. Tributary signals are used for timing between sites.
E. Wander does not occur in the clock signals that have been transmitted over multiple sites.

Correct Answer: DE

QUESTION 12

According to the extended SSM protocol, clock switching is performed firstly according to clock priorities, and secondly
according to clock quality levels.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 13

Two SNCP rings are intersected. Which of the following statements is true about inter-ring service configuration?
A. Configure one unidirectional SNCP service pair on each intersecting node.

B. Configure two unidirectional SNCP service pairs on each intersecting node.

C. Configure four unidirectional SNCP service pairs on each intersecting node.

D. Do not configure any SNCP protection group on each intersecting node.

Correct Answer: C

QUESTION 14

An SNCP ring and an MSP ring are tangent. Which of the following are true about inter-ring service configuration on the
tangent node?

A. Configure one SNCP group for the service from the SNCP ring to the MSP ring.
B. Configure two SNCP groups for the service from the SNCP ring to the MSP ring.

C. Configure unidirectional cross-connections in dual transmission mode for the service from the MSP ring to the SNCP
ring.

D. Configure bidirectional cross-connections in dual transmission mode for the service from the MSP ring to the SNCP
ring.

Correct Answer: AC
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QUESTION 15

On a network where MSP rings and SNCP rings share fiber resources, if Assigned by VC-4 is selected, you need to set
holdoff time for SNCP services.

A. TRUE
B. FALSE

Correct Answer: B
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